gooooozoos0conogn

Q11b Doobobboowsiooooooooooooboobooo
o0000000000O00O0O0OOOO0O (0OOD0)

00000010-010pc00000 10°-10°M, 000000000000000000000000000
0000000000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000000
0000000000000004smO00000000000000000000000 W51000000 NH;
000 (LK) =(1,1),(2,2),(3,3),(4,4)0000000000000000000000

W51000000000000000000000000000000000000000000000000
000000000000000000000 6kped00000000 ~2pc000000000 ~ 45 x 10/(~
80 pcx 18 pc) 000000 340000000000WsIBO0O0OO0O0O000D (J,K)=(1,1)000000
0000000000000000000000 (J,K)=(1,1),(2,2)0000000000000000000
000000010-50K000000000000000000 W5lA0000000 (J,K)=(4,4)000
0000000000(J,K)=(2,2),4,40000000000000050-120K000000000000
0000000O00IRASO 60pmO0 100pmO000000000000000000O000O0O00000000O
000000000000000000000000NH;0000-000000000000000000000
~2pc0000000O000ONH;00000000000000O0O0O0O0O0O0O0O0O0OOODOOOOOODOO
00000000000000WS5100000000000000000000000000000000000
0000 pe0000O0O0DOOODOOOOOO



